Převody
	litr
	liter 

	centimetr čtverečný
	square centimetre 

	metr čtverečný
	square metre 

	objem
	volume 

	centimetr
	centimetre 

	decimetr
	decimetre 

	metr
	metre / meter 

	kilometr
	kilometre / kilometer 

	Kilometr je tisíc metrů.
	A kilometre is a thousand metres. 

	Centimetr je stokrát menší než metr.
	A centimetre is a hundred times shorter than a metre. 

	hmotnost
	weight 

	jednotka délky
	unit of length 

	vyjádřit v jednotkách uvedených v závorce
	express using the units from the brackets 

	převody jednotek
	conversion of units 

	Kolik má 1 metrický cent kilogramů?
	How many kilograms are equal to one metric quintal? 

	Kolik má 1 kilogram gramů?
	How many grams are equal to one kilogram? 

	Kolik má 1 gram miligramů?
	How many milligrams are equal to one gram?

	Kolik má 1 hektolitr litrů?
	How many litres are equal to one hectolitre? 

	Kolik má 1 litr decilitrů?
	How many decalitres are equal to one litre? 

	Kolik má 1 litr centilitrů?
	How many centilitres are equal to one litre? 

	Kolik má 1 litr mililitrů?
	How many millilitres are equal to one litre? 

	Kolik má 1 metr centimetrů?
	How many centimetres are equal to one metre? 

	Výsledek zaokrouhli na centimetry.
	Round off the result to centimeters. 


5 min =
 s

60 cm =
m

550 ml =
dm3

600 g=
 t

40 dm =
m

200 a =
ha

3 h =
min

90 mm =
dm

0,3 l =
cm3

300 cm2 =
m2

550 kg =
q

3 500 m =
km

180 s =
min

55 dkg =
kg

3 000 dm3 =
m3

2 m2 =
cm2

2,2 t =
kg

320 mm =
dm

0,5 d =
h

200 cl =
dm3

220 mg =
g

300 s =
min

0,34 km =
m

220 mm2 =
dm2

400 ml =
dm3

30 q =
t

1500 g =
kg

90 cm =
m

3 200 ml =
m3

320 mm =
m

45 min =
h

70 kg =
q

900 s =
h

32 dm =
m

3 a =
m2

220 cl =
cm3

9 m =
mm

50 l =
hl

2 km2 =
m2

0,4 kg =
dkg

30 cm =
dm

900 mm2 =
cm2

4,5 m =
dm

150 l =
m3

20 min =
s

400 mg =
g

0,5 km =
dm

36 hod =
d

85 cm =
m

300 dm2 =
m2

5 min =
s

300 ml =
dm3

6 kg =
t

3,2 km =
m

90 mg =
g

2 hl =
l

60 min =
h

95 mm =
dm

3 ha =
km2

400 cm =
dm

5 t =
kg

320 dm =
m

420 s =
min

3200 ml =
mm3

200 cl =
l

80 mg =
g

4 m2 =
dm2

5,5 m =
mm

2 d =
h

600 dl =
dm3

18 h =
d

6 000 g =
kg

3 000 m =
km

20 cm =
dm

90 min =
h

300 mm2 =
cm2

400 g =
dkg

90 cm =
m

4,2 kg =
g

8 m2 =
dm2

300 dm3 =
hl

10 min =
s

930 m =
km

3 h =
d

0,4 m2 =
cm2

4 t =
q

9 h =
min

300 kg =
q

4,2 km =
m

920 ml =
dm3

22 m =
cm

400 ha =
km2

600 g =
dkg

80 mm =
dm

3,9 km =
m

15 min =
s

72 m =
dm

600 cl =
m3

4 kg =
g
3

